Divide by Negative Powers of Ten (I)

Find each quotient.

2.7+0.1= 6.01 +-0.1=
0.478 - 0.001 = 5.2-+0.001=
8.3258 +- 0.1 = 9.87 + 0.01 =
43+0.1= 4278 = 0.001 =
9.311 + 0.01 = 1.0905 + 0.1 =
0.928 + 0.001 = 422 +0.1=
3.332 +0.01 = 8.81 +0.1=
4355 +0.01 = 7.372 + 0.001 =
7.65 = 0.001 = 29 +0.1=
3+0.001= 5.66 + 0.1 =
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Divide by Negative Powers of Ten (I) Answers

Find each quotient.

2.7 +0.1=27 6.01 +~ 0.1 =60.1
0.478 = 0.001 =478 5.2 +0.001 =5,200
8.3258 - 0.1 = 83.258 9.87 =+ 0.01 =987

43 +0.1=43 4.278 +- 0.001 = 4,278
9.311 + 0.01 =931.1 1.0905 + 0.1 =10.905
0.928 = 0.001 =928 422 +01=42.2
3.332 +0.01 =333.2 8.81 + 0.1 =88.1
4.355 + 0.01 =435.5 7.372 +0.001 =7,372
7.65 +0.001 = 7,650 29+01=29

3 +0.001 =3,000 5.66 ~ 0.1 =56.6
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